

Date: _____

①

THUR FRI SAT SUN

Name: Mir Muhammad

ID: 15068

Dep: BE (E)

Instr: Mujtaba Sir

4th Sem

Q 1 (b)

$$\text{If } x[n] = \delta[n] - 4\delta[n-2] + 2\delta[n-3]$$
$$h[n] = 3\delta[n] + \delta[n-1] + 2\delta[n-2]$$

Sol:-

$$Y(z) = H(z) X(z)$$

Find $y[n]$

$$X(z) = 1 - 4z^{-2} + 2z^{-3}$$

$$H(z) = 3 + z^{-1} + 2z^{-2}$$

Now

$$Y(z) = H(z) X(z)$$

$$= (1 - 4z^{-2} + 2z^{-3})(3 + z^{-1} + 2z^{-2})$$

$$= 6 + 2z^{-1} + 4z^{-2} + 12z^{-2} + 4z^{-3} + 8z^{-4} + 6z^{-3}$$
$$+ 2z^{-4} + 4z^{-5}$$

$$= 6 + 2z^{-1} - 8z^{-2} - 8z^{-3} + 6z^{-4} + 4z^{-5}$$

To find $y[n]$ use the delay property.

$$y[n] = 6\delta[n] + 2\delta[n-1] - 8\delta[n-2] - 8\delta[n-3] + 6\delta[n-4] + 4\delta[n-5]$$

Q 2:-

$$f(x) = \begin{cases} -\pi & -\pi \leq x < 0 \\ \pi & 0 \leq x \leq \pi \end{cases}$$

Retrieve the Fourier series.

Sol:-

Fourier Transform of differentiation
Integration of continuous-time.

Q 1 (2)

Ans :-

Fourier Transform of Differentiation
integration of continuous-time.

Let $x(t)$ be a continuous-time signal with a Fourier transform of $X(j\omega)$.

i.e

$$x(t) = \frac{1}{2\pi} \int_{-\infty}^{\infty} X(j\omega) e^{j\omega t} d\omega$$

Differentiate w.r.t t

$$\frac{dx}{dt}(t) = \frac{1}{2\pi} \int_{-\infty}^{\infty} X(j\omega) \frac{d}{dt} \{ e^{j\omega t} \} d\omega$$

$$= \frac{1}{2\pi} \int_{-\infty}^{\infty} X(j\omega) \{ e^{j\omega t} \cdot j\omega \} d\omega$$

$$= \frac{1}{2\pi} \int_{-\infty}^{\infty} \{ j\omega X(j\omega) \} e^{j\omega t} d\omega$$

 \Rightarrow

$$\mathcal{F} \left\{ \frac{d}{dt} x(t) \right\} = j\omega X(j\omega)$$

Result:-

we concluded if a function is differentiated in time domain, it is multiplied by $j\omega$ in frequency domain.

Q 3 - ::

$$\text{If } X(z) = \frac{z^2 + z}{(z^2 + z - 3)}$$

Retrieve $x[n]$ Ans :-

$$X_z = \frac{z^2 + z}{(z^2 + z - 3)}$$

$$X_z = \frac{z(z + 1)}{(z^2 + z - 3)}$$

$$\frac{X_z}{z} = \frac{z + 1}{z^2 + z - 3}$$

$$\frac{z + 1}{z^2 + z - 3} = \frac{A}{(z + 1)} + \frac{B}{(z - 3)} \quad \text{--- (i)}$$

OR

$$z + 1 = A(z - 3) + B(z + 1)$$

$$\text{put } z = 3$$

$$3 + 1 = A(3 - 3) + B(3 + 1)$$

$$4 = 0 + B(4)$$

$$\boxed{B = 1}$$

$$\text{put } z = -1$$

$$-1 + 1 = A(-1 - 3) + B(-1 + 1)$$

$$0 = A(-4)$$

$$\boxed{A = 0}$$

Now put A , B in (i)

$$\frac{z + 1}{z^2 + z - 3} = \frac{0}{z + 1} + \frac{1}{z - 3}$$

Date: _____

4

MON TUES WED

$$X \approx z \approx \frac{z-3}{z-3}$$

inverse z transform.

$$x[n] = \delta[n-3]$$

$$\textcircled{1} z \rightarrow \begin{cases} -\pi < \omega < \pi \\ \pi < \omega < 2\pi \end{cases} \quad \begin{array}{l} -\pi \leq x \leq 0 \\ 0 \leq x \leq \pi \end{array}$$

As

$$a_0 = \frac{1}{2\pi} \int_{-\pi}^{\pi} f(x) dx$$

$$= \frac{1}{2\pi} \left[\int_{-\pi}^0 f(x) dx + \int_0^{\pi} f(x) dx \right]$$

$$= \frac{1}{2\pi} \int_{-\pi}^0 -\pi dx + \int_0^{\pi} \pi dx$$

$$= \frac{1}{2\pi} \left[-\pi \int_{-\pi}^0 dx + \pi \int_0^{\pi} dx \right]$$

$$= \frac{1}{2\pi} \left[-\pi x \Big|_{-\pi}^0 + \pi x \Big|_0^{\pi} \right]$$

$$= \frac{1}{2\pi} \left[\pi \left[0 - (-\pi) + \pi(\pi - 0) \right] \right]$$

$$= \frac{1}{2\pi} \left[-\pi(\pi) + \pi(\pi) \right]$$

$$= \frac{1}{2\pi} \left[-\pi + \pi \right]$$

$$= \frac{1}{2\pi} \left(\frac{0}{\pi} \right) \Rightarrow \boxed{a_0 = 0}$$

$$a_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos nx dx$$

$$= \frac{1}{\pi} \int_{-\pi}^0 f(x) \cos nx dx + \int_0^{\pi} f(x) \cos nx dx$$

$$\begin{aligned}
 &= \frac{1}{\pi} \int_{-\pi}^0 -\frac{\pi}{g} \cos nx \, dx + \int_0^{\pi} \frac{\pi}{g} \cos nx \, dx \\
 &= \frac{1}{\pi} \left[\frac{\pi}{g} \frac{\sin nx}{n} \Big|_{-\pi}^0 + \frac{\pi}{g} \frac{\sin nx}{n} \Big|_0^{\pi} \right] \\
 &= \frac{1}{n\pi} \left[-\frac{\pi}{g} \sin n(0) - \sin n(-\pi) \right] + \\
 &\quad \frac{\pi}{g} \left[\sin n(\pi) - \sin n(0) \right] \\
 &= \frac{1}{n\pi} \left[-\frac{\pi}{g} (0) + \frac{\pi}{g} (0) \right] \\
 &= \frac{1}{n\pi} (0).
 \end{aligned}$$

$$a_n = 0$$

Now $b_n = \frac{1}{\pi} \int_{-\pi}^{\pi} \sin nx \, dx$

$$\begin{aligned}
 &= \frac{1}{\pi} \left[\int_{-\pi}^0 f(x) \sin nx \, dx + \int_0^{\pi} f(x) \sin nx \, dx \right] \\
 &= \frac{1}{\pi} \left[\int_{-\pi}^0 -\frac{\pi}{g} \sin nx \, dx + \int_0^{\pi} \sin nx \, dx \right] \\
 &= \frac{1}{\pi} \left[-\frac{\pi}{g} \left. -\frac{\cos nx}{n} \right|_{-\pi}^0 + \frac{\pi}{g} \left. \frac{-\cos nx}{n} \right|_0^{\pi} \right] \\
 &= \frac{1}{n\pi} \left[-\frac{\pi}{g} \left[-\cos n(0) + \cos n(-\pi) \right] + \frac{\pi}{g} \left[-\cos n(\pi) + \cos n(0) \right] \right] \\
 &= \frac{1}{n\pi} \left[-\frac{\pi}{g} \left[-1 + \cos n(-\pi) \right] + \frac{\pi}{g} \left[-\cos n\pi + \cos n(0) \right] \right] \\
 &= \frac{1}{n\pi} \left[-1 \left[-1 + \cos n(-\pi) \right] + \left[-\cos n\pi + 1 \right] \right] \\
 &= \frac{1}{2n} \left[1 - \cos n\pi - \cos n\pi + 1 \right] \\
 &= \frac{1}{2n} \left[2 - 2 \cos n\pi \right]
 \end{aligned}$$

Now

$$b_n = \begin{cases} 0 & \text{if } n \text{ is even} \\ \frac{4}{2n} & \text{if } n \text{ is odd} \end{cases}$$

$$\left\{ b_n = \frac{4}{2n} \right\}$$

$$f(x) = a_0 + a_1 \cos x + a_2 \cos 2x + a_3 \cos 3x + \dots \\ + b_1 \sin x + b_2 \sin 2x + b_3 \sin 3x + \dots$$

$$f(x) = 0 + (0) \cos x + 0 \cos(2x) + \dots \\ = \frac{4}{2} \sin x + (0) \sin 2x + \frac{4}{2(2)} \sin 3x + \dots$$

$$\left\{ \frac{4}{2} \sin x + \frac{4}{6} \sin 3x + \dots \right\}$$

Q No. 4 $A = \begin{bmatrix} -2 & -1 \\ 2 & 0 \end{bmatrix}$, $B = \begin{bmatrix} 1 \\ 0 \end{bmatrix}$, $C = [1, 2]$, $D = 2(0)$

Sol:- we know that

$$\frac{Y(s)}{X(s)} = H(s)$$

$$H(s) = C(sI - A)^{-1}B + D$$

put value

$$H(s) = [1 \ 2] \left[s \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} - \begin{bmatrix} -2 & -1 \\ 2 & 0 \end{bmatrix} \right]^{-1} \begin{bmatrix} 1 \\ 0 \end{bmatrix} + [0]$$

$$= [1 \ 2] \begin{bmatrix} 1 \\ 0 \end{bmatrix} \left[\begin{bmatrix} s & 0 \\ 0 & s \end{bmatrix} - \begin{bmatrix} -2 & -1 \\ 2 & 0 \end{bmatrix} \right]^{-1}$$

$$\Rightarrow [1 \ 2] \begin{bmatrix} s+2 & 1 \\ -2 & s \end{bmatrix}^{-1} \begin{bmatrix} 1 \\ 0 \end{bmatrix}$$

$$\text{Adj} = (s+2)(s) + 2 = s^2 + 2s + 2 \\ = s^2 + 3s + 2$$

$$H(s) = [1 \ 2] \begin{bmatrix} s & -1 \\ 1 & s+2 \end{bmatrix} \times \frac{1}{s^2 + 3s + 2} \begin{bmatrix} 1 \\ 0 \end{bmatrix}$$

$$H(s) = \frac{[1 \ 2] \begin{bmatrix} s \\ 1 \end{bmatrix}}{s^2 + 3s + 2}$$

Q No. 5

Sol:

$$x(t) = e^{-a|t|} u(t)$$

Fourier transform is given by

$$X(j\omega) = \int_{-\infty}^{\infty} x(t) e^{-j\omega t} dt$$

$$= \int_{-\infty}^{\infty} e^{-a|t|} e^{-j\omega t} dt$$

Note:-

$$e^{-a|t|} = \begin{cases} e^{-at} & \text{for } t \geq 0 \\ e^{-a(-t)} = e^{at} & \text{for } t < 0 \end{cases}$$

$$X(j\omega) = \int_{-\infty}^0 e^{at} e^{-j\omega t} dt + \int_0^{\infty} e^{-at} e^{-j\omega t} dt$$

$$\Rightarrow \int_{-\infty}^0 e^{(a-j\omega)t} dt + \int_0^{\infty} e^{-(a+j\omega)t} dt$$

$$\Rightarrow \left. \frac{e^{(a-j\omega)t}}{a-j\omega} \right|_{-\infty}^0 + \left. \frac{e^{-(a+j\omega)t}}{-(a+j\omega)} \right|_0^{\infty}$$

$$\Rightarrow \frac{1}{a-j\omega} (e^0 - e^{-\infty}) - \frac{1}{a+j\omega} (e^{-\infty} - e^0)$$

$$\Rightarrow \frac{1}{a-j\omega} [1-0] - \frac{1}{a+j\omega} [0-1]$$

$$\Rightarrow \frac{1}{a-j\omega} + \frac{1}{a+j\omega}$$

$$\Rightarrow \frac{a+j\omega + a-j\omega}{a^2 - (j\omega)^2}$$

$$\Rightarrow \frac{2a}{a^2 + \omega^2}$$